Tad Exponentes de 10

Nombre: Fecha: Puntuacion:
10° = 10° =
—2x10* = 10° =
4 x 10 = 3,53+ 10" =
6x10° = 10° =
5,65+10° = 5,66+ 10° =
8 x 10° = 10° =
1 x10* = 100 =
7,43 x 10 = 10* =
-3 x10% = 5,95+ 10° =
4 x 102 = 5,11 x 107 =
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Exponentes de 10

Nombre: Fecha: Puntuacion:
10° = 1000 10 = 100
—2 x 10* = —20000 10° = 1000
4 x 10* = 400 3,53+ 10" = 0.000353
6 x 10° = 6000 10° = 1000
5,65+10° =5.65E — 05 5,66 = 10% = 0.0566
8 x 10° = 8000 10° = 1000
1 x 10* = 10000 10° = 1000000
7,43 x 10 =743 10 = 100
—3 x 10* = —=30000 5,95+ 10* = 0.0595
4 x 10* = 400 5,11 x 10> =511
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